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21 Heleet the option which gives the value of a,, o the potation of r.!u CHTEE
aption for Cuestion 20, when e = 1,59, ., in the sohation of the given pactinl
differential equation. which satizfies: the bosodary conditions and the inikial
conditicn. {':_,

22 Seleet the option which gives the value of a0 o the motation of the correst
option for Cestion 20, when no=5,7,11,, .., i the solotion of the given
pawtial diffevential equation which zatisfies the bhowndary conditions and the
initial condition, | ?;

2% Belert the option which gives the walae of a, o the pedation of he correet
option for Question X, when o s evwen, in the solution of the piven partial
differential equation which satizfies the boundary condifions aod (e initial

condliting. & . “'-.,"”-“-*'
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24 Either solect che option which gives the value of b, in the ootation of thee
coreech option for Ouestion 200 in the solution of the given partial differontial
eepiation whicl satisfies the boundary conditions and che initial condition, or
select option G 0 vou think that the coefbeients b, doooob occer il cocrect
apitinn for Chuostion 20,
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@ The cimdficients b, do nob oceur mthe correct option for Question 20,

O



